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1. WFFUT 5 R HAE S PR Bl -
(1) f(z,y) = lzyl, (2) flz,y) = Vlzyl, B) fz,y) = Vo cosy,

wa 27 (33, ) #* (0,0)’
(1) flary) = 4 Vorrm OY

0, (z,) = (0,0).

x2 2 Sin%7 - 0’0 7
(5) flx,y) = (@% +y7)sin oz, (2,9) # (0,0)
07 (m,y) = (0,0).

2. WE A FETR E MR
(1) f(xvy) = (myQ - 3$2,3$ - 52/2), (xvy) = (17 71);

(2) f(x,y,z) = (xyz2 - 4y2,3xy2 - y22)7 (x,y) = (17 _273);
(3) f(r,0) = (rcosf,rsinf), (r,0) = (ro, 6o);
(4) f(z,y) = (sinx + cosy, cos(x + y)), (x,y) = (0,0).

3. REGWUN fog FEFE R Jacobi HiFE:
(1) f(z,y) = (zy,2%y), g(s,t) = (s + 1,87 = %), (5,1) = (2,1);

( ) = (e**2 sin(y + 22)), g(u,v,w) = (u + 2v% + 3w3,2v — u?),
(u,v,w) = (1,—-1,1);

3) fz,y, 2) = (w+y+z, 2y, 22412 +22), glu, v, w) = (" " sin uw, \/uv),
(u,v,w) = (2,1,3).



- RE AW TH:
(1) z=h(u,x,y), yzg(u,v,a:), mzf(u,v),ﬁ?zq’“z;;
(2) z:f(u,gc,y), x:g(vaw)a y:h(u,v), *Z;,Z;,Ziﬂ

VR SR B R
(1) z = 2%y% + 3z° — 2%, (2) 2 = ﬁ%yy (3) z = log(z* — 3),
(4)Z:§+%, (5) 2 = cos(z + logy), (6)z=ilz,
(7) z = arctan(x + y), (8) z = x¥, (9) z = e**2Y 4 sin(y + 22).
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W v(z,y) = ul@? —y?, 20y) M w(z,y) = w(zte, =) BHLHTRE.
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(2,1) 1 _(z=5)?
ulx,t) = e 4a2t
2a~/rt
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C BICRREL £ 1 £ (0, yo) FHAE, f{,(xay) fE (w0, y0) PHIEESE, UEW f 7E
(0, y0) AEFIHL.

fly(xo,yo) = fglllr(an Yo)-



